
4000 6000 8000 10000 12000

10
0

Iterations

Trace of (Intercept):(Intercept).Chick

100 200 300 400

0.
00

0

Density of (Intercept):(Intercept).Chick

N = 1000   Bandwidth = 10.76

4000 6000 8000 10000 12000

−
10

0

Iterations

Trace of Time:(Intercept).Chick

−100 −80 −60 −40 −20

0.
00

Density of Time:(Intercept).Chick

N = 1000   Bandwidth = 2.744

4000 6000 8000 10000 12000

−
10

0

Iterations

Trace of (Intercept):Time.Chick

−100 −80 −60 −40 −20

0.
00

Density of (Intercept):Time.Chick

N = 1000   Bandwidth = 2.744

4000 6000 8000 10000 12000

10

Iterations

Trace of Time:Time.Chick

5 10 15 20 25 30 35

0.
00

Density of Time:Time.Chick

N = 1000   Bandwidth = 0.7094


